LT/0/LTM70-CB

A

cem

WITH HIGH FREQUENCY

S

.. 4 -
2 ? 9
. = o—
L3}

> MACHINE TORCH
1/8G BEIe
k 1/4G
20a
M14X1 M
v 20
k& M16X1.5
5 22 Central adaptor
| . [ o2 5 S

Current FEEFR 70 Amp |_ 23
Duty Cycle g#i% 60%

Gas S AR =5

Gas Pressure S[E 4.5-5.0 Bar

Gas Flow 572 130LPM

Ignition 513175 HF =57 S——

Post Flow S{A3ERS 70 sec. recommended ##70%)
Standard Length #REHKE 6M

A

CEW

HAND TORCH

IVT6870
IVT6876
IVT6879
IVT6875
IVT6877

1564 Plasma cutting torch LT70/6m 1/8G;% & F 41 #46/LT70/6m 1/8G
Plasma cutting torch LT70/6m M14x1;% & F ] &/46/LT70/6m/M14x1
Plasma cutting torch LT70/6m M14x1;% B 5] E46/LT70/6m/M14x1
Plasma cutting torch LT70/6m M16x1.5;% B F ¥ E|4#6/LT70/6m/M16x1.5
1573 Plasma cutting torch LT70/6m central adaptor; % & F ¥ £I48/LT70/6m/h R §f sk

MACHINE TORCH

IVT6740
IVT6742
IVT6743
IVT6744
IVT6746

18.1
18.2
18.3
18.4
18.5
19
20
20a
21
21.1
21.2
21.3
22
23

1563 Plasma cutting auto torch LTM70/6m 1/8G;% & F B ¥ F#£/LTM70/6m 1/8G
Plasma cutting auto torch LTM70/6m 1/4G;% & F & s #) El#6/LTM70/6m 1/4G
Plasma cutting auto torch LTM70/6m M14x1;% 25 F B & {] £148/LTM70/6m/M14x1
Plasma cutting auto torch LTM70/6m M16x1.5;% & F B &1 #/) #/46/LTM70/6m/M16x1.5
1566 Plasma cutting auto torch LTM70/6m central adaptor;% & F B 1] /46/LTM70/6m/h 5 #F &

I1SM6662 1405 Double pointed spacer/LT70;#@ &% % LT70
1SM0060 1394 Spacer spring/LT70;f@ B ¥ LT70
1SM0007 Shield cap for Extended tip/LT70;#& #E f ) F|{R 318 LT70
Outside nozzle; 5k i M
1VS0087-03 5.710.171 Outside nozzle LT70;5MNEEHE LT70
1VS0087-01 Outside nozzle/maximum life LT70;5MEEHE/AC & & LT70
Tip; B
1VU0065-09 1309 Tip ® 0.9mm LT50-70;8# ® 0.9mm/ LT50-70
1VU0033-10 1396 Tip ® 1.0mm LT50-70;HH ® 1.0mm/ LT50-70
1VU0033-11 Tip ® 1.1mm LT50-70;#H§ ® 1.1mm/ LT50-70
1VU0033-12 1395/L Tip ® 1.2mm LT50-70;85# ® 1.2mm/ LT50-70
Tip
1VU0028-10 Flat tip ® 1.0mm; /& FBH§ © 1.0mm/ LT50-70
1VU0028-12 Flattip ® 1.2mm; & F BB ® 1.2mm/ LT50-70
Tip:RiHE
1VU0064-10 1305 Conical tip ® 1.0mm/LT50-70;4E B H§ ® 1.0mm/ LT50-70
1VU0064-12 Conical tip ® 1.2mm/LT50-70;# £ BiHE ® 1.2mm/ LT50-70
Tip; Mg
1VU0035-98 1366 Extended tip ® 0.98mm/LT50-70;1 & B#§ ® 0.98mm/ LT50-70
1VU0018-10 1395 Extended tip ® 1.0mm/LT50-70;11 & BEH ® 1.0mm/ LT50-70
1VU0018-11 Extended tip ® 1.1mm/LT50-70; 0 B# ® 1.1mm/ LT50-70
1VU0018-12 Extended tip ® 1.2mm/LT50-70; 10 K B ® 1.2mm/ LT50-70
IVF0002 Diffuser LT50-70;4} % 8§ LT50-70
1IVB0018 1402 Electrode HF Plasma LT70;% & F 81} LT70
1VB0019 1368 Extended electrode HF Plasma LT70; i & % & F &4} LT70
1ZN0766 3.065.204 Air tube/LT70; R & LT70
1VZ0015 1071 Plasmatorch head LT70;% & F#2 3k LT70
IFT0707 "0"ring ® 12.42x1.78mm in silicon red; O&L [ ® 12.42x1.78mm/EE R4 &
1GV0039 Plasma handle manual/CB50-70/Red;% & ¥ F L F4§/CB50-70/4 &
1HJ0722 Protection part/Plasma/Yellow; FF %R 444 /5 B 7 A/E G
IHQ0070 185.0031 Trigger; FF %
1HJ0893 Joint/small/new type;Fk¥5 2 #/0V/E

Cable assembly;F8 #i4
Cable assembly/LT50-70/6MMQ/6M ATT.1/8G;H 4i48/L T50-70/6MMQ/6M ATT.1/8G
Cable assembly/LT50-70/6MMQ/6M center adaptor; B #548/L T50-70/6MMQ/6Meh 5§k
Cable assembly/LTM50-70/6MMQ/6M central adaptor; B3 #443/L TM50-70/6MMQ/6Mmh 53 Sk
Cable assembly/LTM50-70/6MMQ/6M ATT.1/8G;HL454/L TM50-70/6MMQ/6M ATT.1/8G

IVN0O0006066-00
IVN00006060-00
1IVN10006060-00
IVN10006066-00

IVN0628 Cable assembly/LT50-70/6m central adaptor;H 4 /L T50-70/6m/h R i sk
1ICG6006 60368 Spanner for Plasma; & & F it 47 &
1VZ0073 1349 Plasma torch head LTM70;% & F 6 5k LTM70
1GV0013 Fiber glass position tube/LTM; B &4 F4§ LTM

Cable assembly LTM;E3 448 LTM
1275687 Connecting adaptor 1/8G-1/4G ¥ # 1% £1/8G-1/4G
1275688 Connecting adaptor 1/8G-M14x1;4% # 4% £1/8G-M14x1
1ZT5689 Connecting adaptor 1/8G-M16x1.5;4% #$%1/8G-M16x1.5
1ZX0078 Central adaptor torch side Plasma 5 pins;% 55 7 o R # $k/5¢
ISM0029 Circle cutting attachment/LT70; & & {1 £k ¢ LT70



